Study the diagram below.
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Which phrase best completes the diagram?

A. trade patterns

B. main language

C. political system

D. industrial products

Correct Answer: B. main language
Rationales:
	A
	Students may know that Brazil was important to Portugal's colonial trade, but Brazil's current trade patterns are post-colonial.

	B
	Correct. The majority of Brazilians speak Portuguese.

	C
	Students may know that both Brazil and Portugal are now democracies, but Brazil's democratic political system is not derived from the Portuguese system, which was monarchical when Portugal ruled Brazil.

	D
	The student may know that Brazil's early economic development was determined by Portuguese colonial policy, but Brazil's colonial economy was largely agricultural.


Study the information below.

Economy of Australia

GDP: $960 billion (19th in the world)

GDP Growth Rate: 3.3% (103rd in the world)

GDP Per Capita: $42,400 (22nd in the world)

GDP by sector:

· agriculture: 4%

· industry: 26.6%

· services: 69.4%

Exports: $263.9 billion (23rd in the world)

Imports: $239.7 billion (21st in the world)

Which of these features of Australia increases the importance of relying more on domestic natural resources rather than imported natural resources?

A. It is an island country.

B. It was once a colony of another nation.

C. It has a heavily service-oriented economy.

D. It lags behind many other countries in productivity.

Correct Answer: A. It is an island country.

Rationales:
	A
	Correct. Because transportation costs are higher for an island nation, imported natural resources are more expensive, increasing the importance of domestic natural resources.

	B
	The student may know that a colonial past can have negative economic effects.

	C
	The student may assume that services use more natural resources than industry.

	D
	The student may assume that resource independence is more important for an economy that is not one of the world's largest.


Read the quote and the information below.

"In your time we have the opportunity to move not only toward the rich society and the powerful society, but upward to the Great Society. The Great Society rests on abundance and liberty for all. It demands an end to poverty and racial injustice, to which we are totally committed in our time. "
- Lyndon Johnson, May 22, 1964
The Great Society resulted in a wide range of laws providing greater protections for consumers, including the Cigarette Labeling and Advertising Act of 1965, the Fair Packaging and Labeling Act of 1967, and the Truth in Lending Act of 1968.
Which of the statements below would have provided a good argument for including these types of legislation in Lyndon Johnson's vision of the Great Society?

A. Anti-competitive business practices are a significant cause of poverty in the United States.

B. Economic opportunity for minorities requires affirmative hiring decisions by major employers.

C. The government has an important role to play in equalizing the power of individuals and corporations.

D. Restricting certain harmful practices will reduce the rapid growth of healthcare costs in the United States.

Correct Answer: C. The government has an important role to play in equalizing the power of individuals and corporations.

Rationales:
	A
	While President Johnson was concerned about poverty, he did not believe that anti-competitive behavior was closely linked to poverty.

	B
	While President Johnson did initiate a number of important affirmative action programs, these laws were connected with consumer protection, not advancing minorities' rights.

	C
	Correct. President Johnson believed that government regulation was needed to provide individuals with the ability to make better decisions and advance economically.

	D
	While harmful practices do contribute to rising healthcare costs, this was not a significant concern in the 1960s.


Which statement best explains how African Americans contributed to the growth of the Northern economy during the first half of the nineteenth century?

A. The innovations of African American inventors provided important technological advancements for Northern industry.
B. African Americans escaping from slavery provided an important source of inexpensive labor for factories in the North.

C. The need to feed the population of African American slaves gave Northern grain farmers a large market for their crops.
D. The agricultural products grown largely by African American laborers in the South fueled industrialization in the North.
Correct Answer D. The agricultural products grown largely by African American laborers in the South fueled industrialization in the North.
Rationales:
	A
	While African American inventors made important contributions to scientific and industrial progress, this largely occurred after the end of slavery.

	B
	While African Americans were often used as inexpensive factory labor in the North, this largely took place after the end of slavery.

	C
	While there was a large population of African Americans that needed to be fed, Southern plantation owners did not turn to Northern grain farmers to fill that need.

	D
	Correct. The Northern and Southern economies were interdependent in many ways, including the North's reliance on shipping Southern cash crops and using Southern cotton for its fast-growing textile industry.


